Zadwo, Oolodideld, kord;

MTH 221 Linecar Algebra Foll 2016, 1-7 © copyright Ayman Badawi 2016

Exam I MTH 221, Fall 2016

Ayman Badawi é’g
S 2 2 V2 3 2 ;IZLH? +
QUESTIOi\l.leen.tl:[__s 4J.B=[2 e _IJ-LetC=AB- &—'((é/)én

(i) Use the method of linear combination of columns to find the third column of €.
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(i1) If A is invertible (nonsingular), then find A",
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QUESTION 3. Given A is a 4 x 4 matrix such that 4= = 8 (]) (]) f - Find the solution set to the system of linear
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QUESTION4.Let 4= [-] ¢ 3
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(i) Find AL,
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(ifi) Find |A], [A~!|,and [A + A~
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(iv) Find [34| and | 43|
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(V) View each row of 4 as a point in R? and let D = span{Ry, Ry, Rs}. Find dim(D).
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QUESTIONS5.Given A= | 3 7 and |A| = -7 where a, b, ¢, d are some numbers,
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QUESTION 6. Find the solution set to the system :
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QUESTION 7. Given the augmented matrix of a system of linear equations A = | —|
~1

(i) For what values of a, b, ¢ will the system have unique solution?
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(i) For what values of a, &, ¢ will the system have infinitely many solutions?
b=_3
C= -y
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QUESTION 8. Given A is a4 x 4 matrix such that A Ri&R B3R, C= lI g 5
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QUESTION 9. Given D = span{(1,1,1,1),(-1,0, 0,0}, (0,1,1,1), (-1,1,1,1}.
1. Find dirn(D)
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2. In view of your answer to part (1), does [) = R*? why? 1o becaure 't °““T as twe indep
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3. Convince me that the point (2, 8, 8, 8) live inside D.
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4. Does the point (2,5,6,6) live in D?Explain? No because ¢ cannet be wn

Wingewr wn\buﬂod{or‘\ Q'P J(‘L\e Po\'ﬂ“'g (h|,|.,|))(—1)o,O,O),(O,\,11'))(‘4)1)(1‘)

-

\Q Sarmit &S alrve

LT
0T Ty ekt
47\?\)}0%5\ - j )Zoet(\,l,tj[))(%("\)/))

. . 51—-' A(\"__b Q\T/6)QJ <
Faculty informaltion

Ayman Badawi, Department of Mathematics & Statistics, American University of Sharjah, P.O. Bo 26666, Sharjah, United Arab Emirates.
E-mail: abadavi®aus,edu, wwy, ayman-badawi,com




